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IMPORTANT NOTES:

1) Please make sure that vou have written your student number and name above.

2) Check that the exam paper contains 5 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.



1) a)Find domain of f(z) = log(z? — 1).
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b) Solve z* — 8z — 33 = 0.
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¢) Find an equation of the line that is passing through (3, —1) and parallel to
2z + 5y —1=0.
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d) Solve the inequality 2+ vz —3 > 7.
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2) a) Sketch the parabola f(z) = 2* + 20z.
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b) Sketch the parabola f(z) = —(z — 7)* — 1L.
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3) For this question, find solutions by using calculator.
a) Solve the equation (1 — 4z)* = 0.68.
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b) Solve the equation 4(7° — 15) = 1.
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c) Solve the equation In(3 + 7z) = 5
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4) a) Sketch f(z) = log,(2z — 4).

b) We invest $400 to an account paying 5% compounded quarterly. How much money
will we have after 6 years? (Use calculator!)
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5) For this question, find solutions by using calculator. This question contains two unrelated

parts.
a) You invest $1000 into a bank account with 3% nominal interest rate. How long will it
take the value to amount to $2000 if it is compounded semiannually?
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b) What interest rate is required for $1500 to amount to $2500 in 3 years compounded

monthly?
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